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INSTRUCTIONS

. This question booklet contains 60 (sixty] Multiple

Choice Questions (MC)

. Each question has four (4) probable answers, out

of which only one is comect.

. Select the correct answer and darken the appropri-

ate circle completely in the OMR sheet with Blue/
Black ball point pen only. Darken only one circle and
darkening two or more circles shall lead to rejection
of the answer.

. The OMR answer sheets shall be evaluated by the

computer.

. Donot write / scribble anything on any part of this

booklet except the space provided for deoing the
rough work.

. Each question caries 4 marks. For every wrong

response 1 mark shall be deducted from total

SCOTe.



@.‘ ENGLISH

. The cowis useful animal 8.
(a)a (b} an
(c}) the (d) any
2. Gandhiji was bomon . 9.

(a) 2nd Cctober, 16879
(B) 2nd October, 16569
(¢} 2nd September, 1869 10.
(d) 2nd September, 1879
3. Mydog can - (Fill in the blank)
(a) sing {b) croak
(c) bark {d] roar 11.
4. Rajubrought a small old basket full of
for King.
(a) cockroaches (b) small worms
(¢} lizards {d]) small snakes 12.
5. The biggest of the roosters was called King
(a) because he had a crown
(b} because he had a big crown
(¢} because he had a big red crown 13.
(d] because he had a small crown
6. Which word of the following means “denied™?
(a) miser (b) refused
(¢} managed {d} throughout 14.
7. Fill in the blank with the comect word from the
following:
Good Moming, birds;
Good Moming, trees; 15.
And creeping grass, and heesl
(a) brownie (b) browni

(c) browny {d] brownie

Clags = W1
CurHeadmasteralways _ us.
(a) guides (b) quiding
(c] has quided (d] quide
Mary__ afilm on TV last night.
(a) watch (b)watched
{c) have watched (d) had watched

Which of the following word expreas the negative
meaning of the word “understand™?

{a)understand (b] misunderstand

(c) inunderstand (d)disunderstand
Santosh TV yvesterday. (Fillin the blank
with the appropriate verb form.)

(a) watches (b] has watched

{c] had watched (d)}watched

Father put the tablet inside a and gave it
to Tapu.

(@) ipe apple (b) ripe orange

(c] ripe banana (d] ripe pumpkin

When the winds blow, clouds - {Fill in
the blank)

{a) stand still (b) run away

{c] =it on blue hill (d] ook like white-sheep

Az the word fast is related to the word faster, so the
word “short” is related to

(@) shorter (b) shortter

(b] shoter (d] shotter

The police chased the thief. (Replace the undedined
word with a suitable phrasal verb.)

{a) took after (b} loocked after

{c] jumped after (d] ran after
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Class : V1
3 . )
Express E in decimal form.
(a)0.012 (b)1.2 (cj0.12 (d)0.0012

How many days are there in the year 20047

{a) 364 (b)) 365 (c) 366 {d) 367
How many prime numbers are there between 1 and
507
{a) 14

{b) 15 {c) 16 (d) 18
How many multiples do 20, 21 has?
(a3 (b} 4
{c) 2 (d) Mone of these

33
? is situated nearest to which two integers?

fa)i&d (b4 &5 (C)5 &6 ()6 &T
In an obtuse angled tiangle at most how many
acute angles can be there?

{a)0 (b1 (c) 2 (d) 3
28 has how many factors?
(a) 3 (b) 4 {c)5 (d) 6

What is the difference between the largest 8 digit
number and smallest 8 digit number?

{2) 90000000 (b} 10000000

{c) 1 (d) Mone of these

How many lines of symmetry are there in the English
alphabet ‘A'?

() {b)1 (c) 2 {dy 4
What is the name of the line segment joining two
points on the circumference of a circle passing
through the centra?

{a) Radius {b) Diameter (c) Chord (d) Secant
Which of the following is a fraction in simplest form?
(a2 (b)4/6 (c)3Ma {(d) 34

At most how many right angles can be there in an
equilateral tiangle?

{a) 1 {b) 2 (c)D (d)MNone of these
Which of the following is not a coposite number?
(a) 4 (b} S (c)1 {d)None of these
How many edges are there in a cuboid?

{a)6 {b) 8 (cy10 (dy12
The LCM oftwonumbersis2dandHC F.is 2 If
one of the numberis 6, then find the other number.
{ay2 (b3 (cy4d (dy8
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G:; SCIENCE Class : VI
31, AR cRE M 90 JaGeR QAINEN fe5 7 31. Which part of the fish helps in breathing?
(a) of {(b) mra {c) siEd {d) 2 {a) Mouth {b) Tail (c) Gills {d) Eye
37 GRS | oRee F47 32.Who is the inventor of hicycle?
(2) 453 e (b) 2% @19 (©) Macmilan (@) Wright Brothers
13 é::éqgam E:;‘mm a8 2147 (d) SIS, QISR 33. Which type of energy is found in food?
(a) ofe (b) elgE (a) Mechz_mlcar (b} Therrmal
{c) Electrical (d) Chemical
(c) BQIoR o (d) eidee 4. Ability to do work is called as
3. iy dce AR @ o gk T (a) Energy {b) Force
(a) @ (b) @ (c) Power {d) Both (a) and (b)
(C) Do (d) eaa (a) %" (b) 35. Who first invented refrigerator?
35. &4 goen cadeneq 0a U8 efgsa ? {a)Jacob Parkins (b} Joseph Swan
(a) RERR afaq {b) EQIEERT QIR {c) Thoman Edison (d) Macmillan
(c) saIFi| e {d) riefes 36. Which one of the following is the main source of
36. 309 MY CRUT 990 €d0 TR ? energy?
(ajen  (b)easgm  (c) seEql (d) 210 (a)Sun  (b) Petrol (c)Coal {d)Wood
7. 0 0 cod T CIQRTER o1 o0d Rea T 37. ‘;’m g;lp?'n?a rrte c:: the lotus flower receives air from the
()@ (b)aga eal  (c) o (d) = (a) Stem (b) Stomata  (c) Root (d) Flower
e e o pe— R 38. present inthe atmosphere prevents harmful
QUGN GCA GRed @E9Ig IR ead | ultraviclet rays from entering the earth's surface.
(a) be=iR (b) aeRIe (a) Dzone {b} Oxygen
(¢} fean (d) Teneeie] (c) Methane (d) Carbon dioxide
39. Z6F 66199 QB0 GRRLR, YIGRERY Gdo | ag. is released into the atmosphere when
evaa | we bum fuel.
(2) TEEEIE] (b} BRiga {a) Carbon dioxide (b} Helium
(c) ekl (d) ooRkE=ke fc) Oxygen {d) Mitrogen
40. g odl B 00 €07 MIFR 908 wem ooeol @ag @'a | 40. The loss of fertile top soil due to heavy rain and
RN 7 wind is called as ;
(a) o 52 (b) 98 &RITE (a) Deforestation {b) Afforestation
(c) 9571 82 (d) ae efede {c) So! Eenosion _ l_:d] Weather{:r}angjﬂ,
41. 38 QrEea 91 9ear O 7' SUeHn SaIE 7 41_What is used for quick relief from scorpion hites®?
{a) Salt water (h) Sugarwater
(a) a8 i (b) &% ad {c) Lemon water (d) Lime water
(c) eqr, G (d) g @4 42 Word environment day is observed on
42. g5ed ead In 9 ofseq 0d UIRR RN (a) 5th of June (b} 15th of June
{a) gm 719 5 oK (b) g% A9 15 ki (c) 5th of May {d) 15th of May
(c) P= 19 5 oA (d) /1@ 19 15 ek 43. Which gas present in air tums the colour of fresh

43 QIgen g9 e SHE 98 e L oF @RIR 87

(a) TR {b) SeaEaia

(c) aEnege (d) @a1a qIe
44. ged O QIEEER WO\ 247

(a) AswEmdwa (b) geag

(¢} 989 (d) eRtdie

45_ ) iy £edR MKAIR TRISERE ERIE TS 7
(a) BEow (b) FEINe eakl
(c) g {d) giecs

44.

45.

water to milky*?
(a) Oxygen (b} Nitrogen

{c) Carbon dioxide (d) Water vapour
Which Mosquito causes filaria?

{a) Female anopheles {b) Culex

(c) Aedes (d)Anopheles

Which of the following is a disease caused due to
deficiency of Minerals?
{a) Osteoporosis

{c) Tuberculosis

(b} Infectious
{d) Goiter
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GK & Reasoning Class: VI
&7 Ser qiie mug LAIEs OF | 46. Find the odd one out
{a) e (b) FeifFie {a) China {b) Myanmar
{C) waraEad (d) aemia (c) Bangladesh (d) Thailand
o) AFRIEE: c@Y TR Q9f e §07 47.  Which crops are well cultivated in a fertile soil?
{a) -;;n',]j {b} oI {a) Cottan (B} Coconut
(c) Mm@ 9on (d) GraK {c) Rice and Wheat {d} Groundnut
SRES 0 GRE0ED G260 TODI SHoDe 200 SRS ? ag. When and where Sipoy Mutiny was first initiated?
(@) 1857 AE=cs Sal {a) At Jhansl| in 1857
(b) 1857 sfione oFe Sidn & Dl {b) At Barakpur and Berhampur of Banga In 1857
(&) 1867 nEwes SR {e} Al Jhansi In 1867
{d) 1867 ndoee oTa | ARG {d) At Barakpur of Banga in 1867
654 SIRES g 05 997 SR T 49_  Bihu lestival is celebraled In which Stata?
(a) sEtag {b) za {a) Nagaland {b} Assam
{c} [ala= Tl {d} 2RSS 9504 (c) Mizoram {d) Arunachala Pradesh
PIBEE IR GMIBIPE ERUICIER Bege 7 s0. Where is the Supreme Courl of India situated?
(a) S5y (b) e {a) Delhi (b} Mumbai
(c) eamas (d) eea (c) Kolkata {d} Cuttack
G0 71l 61| G181 O 857 A1 99 | 671 G 671 i 30 24 4 | 51. My mother is three times older than my sister. My
GORRRREE B W) S VR ERRRERER GRGE 0 o CRRgR | father is 30 years elder to me. | was five years old when
o0 661 Baa Sdme 9aa 15 o4, 6ose eie D91 B SIGKT Raae Ok my sister born. If the present age of my sister is 15
years, then the difference of my parents’ age is
(@) 3 (b) 2 c) 5 {d) 10 (a) 3 (b) 2 (a5 (d} 10
&4 {3-;;1@ gree e ﬁﬂ ﬁ@gg ea | 52. Find the figures which will continue the same series.
o [ ® wF @ [ w W @
‘e W0 edla’ @9 G0R ehiUcR ? 53. Who formed ‘Azad Hind Fau]'?
a) PRSI £R6RQ) b) R0e QI {a) Jawahar Lal Neheru (b} Lajpat Rai
ch: 580 o0 an Ed; gom oo cole {c) Bipin Chandra Pal  [d}Subas Chandra Bazsa
gégq CRTTIG TR oruna E‘EP@G{EGI ﬂQﬁ@ o 54. \Whare is the headquarter of East-Coast Railway situated?
(3) amerge (b} &6 GaIg {a) Bhubaneswar (b} Khurda road
(c) gedos (d} Samiean (c] Waltair (d) Vishakhapatnam
= > oy g5 Coltan Industries are not lecated in which regian of our country?
Eﬁiﬂaﬁ? SUEE & U EH{:EbT ;EEW (a) West Bengal (b) Andhra Pradesh
(c) ool @ Geaicie  (d) 0OR @ RAER (¢) Firozabad of Haryana (d) Ludhiana of Punjab
§-ﬁ-§ e 815 edimig £8g Eﬂﬁlﬂ_ﬁﬁ &3 ewlad ang, 56. The diagremshowsa magicsquare in which the sums of the
aa 8 Gediaea g9l ﬁl“‘ﬁ‘ll@]ﬁ'ﬁ?ﬁ e 15 nurmbers in any row, calumn or diagonalara equal. What s
QA5 | 6569 na FlEY S'E? the value of nt
g
l {2l 5 b} 7 5 3
(4] 5 B} 7 9 B
Ic} @ (d} 11 4 .
(] D) 11 ol K
Sl G Sale SRe G SRl ~QErg Al Hl 272 o7 Ram takes a square phece of paper and folds itin hall Tour
oifian SR SE9 055 40 AReeK A0 GO SeW asml | times without unfald|ng, making an |sosceles right trlangle
P g 5. S5 each Hme, After unfolding the paper to form a square agaln,
A 94 F0R OISl R GHISTI 958, HAReR 4 Segve the creases on the paper would look ke
EURER? T .
A @ {H E% 1€ (I ﬁ (A} H% (B %i% 1C) | N
58. Which number will replace the question mark ?

driaese Ty 50 299K o1 Bg e At
s ﬁ@ﬁm =1~

A A A

L] aF i 1k

(b)14
(dy&

[a)z
[¢] 10

(k) 14
(dye

[r.T.0O)

[a)3

A A A

" 18 14 2

A A\

[¢] 10



59, pEcten eod ool QRea Bedo 7 59. Tajmahal is located at the bank of which river?
(a) e5de {b) agm {a) Brahmaputra {b) Yamuna
(c) eRar {d) exn {¢) Brahmani (d) Ganga
B0. G B 60. Who among following Is not elected?
{E::]I f;ﬁgfﬁlma@ ! (b} guiraa! {a) Chief Minister {b) Prime Minister
(¢} suecle {d) igaml (c) Governar (d) Minister of state
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